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ATTHE END OFFIFTH SEMESTER (CBCS PATTERN) DEGREE EXAMINATIONS 
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1. Explain unbalanced transportation problem. 
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Explain transhipment problem. 
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Explain formulation of travelling sales man problem. 

Explain strategy. 

Assumptions of sequencing problem. 

7. Mention the rules of saddle point 
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SECTION -A 

Explain balanced assignment problem. 
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(1) 

Maximum Marks: 75 

(5x5=25) 
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9. 
Answer ALLthe questions. 
a) 

b) 

10. a) 

Explain procedure of vogel's approximation method. 
VAM ãoa) 3%8N 30oá. 

Destination 

Requirement 

Find the optimal solution to the following transportalion problem by the U.V method 

Persons 
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A 

B 

C 

D, 

D 

190 

700 

400 

50 

4 

7 

SECTION -B 

3 

D, 

2 

300 

Solve the following assignment problem. 

300 

100 

80 

(OR/`T) 

D, 

5 

500 

400 

600 

70 

Jobs &6srrw 

9 

(2) 

6 

8 

4 

(OR/da) 

D, 

100 

600 

200 

140 

IV 

3 

7 

4 

Availability 
70 

90 

(5x10=50) 

180 



11. 

A 

B 

C 

D 

E 

a) 

b) 

12. a) 

b) 

Minimize transportation cost for the following travelling sales man problem. 

A 

3 

Task 

6 

2 

3 

088o%o@. 

B 

|21-BSS35-7A] 

3 

2 

3 

C 

6 

5 

6 

4 

Machine I(ooéo I): 

D 

Machine I (cípojsoll): 

2 

2 

6 

6 

Explain sequential procedure for solving a 3 machines 'n' jobs problem. 

1 

Find the sequence that minimize the total elapsed time (in hours) required to complete 
the following tasks on two machines. 

3 

E 

8 

3 

3 

4 

6 

(ORJ`T) 

(3) 

2 

12 

Write the rules of network construction. 

10 

(OR`) 

3 4 

15 6 

10 6 

5 

10 

12 

Explain the interactive procedure of deterining critical path. 

,6 

1 

7 

11 9 

3 
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13. a) 

b) 

Explain the concept of dominance and write its properties. 

Solve the game whose pay off matrix is 

(-1 -2 

7 

6 
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8 
5 -1 

0 

(OR/`D) 

12) 

(4) 
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